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K— m’/h
q,— m’/h
Ap—— bar
p— kg/m’
4 C,
C,=q, @ 1-4
C— USgal/min
q,— USgal/min
Ap— 1bf/in®
6G—— =1
A, K, C,
C,=1.167K, 1-5
1 6
C, =% 1 1-6
10°
K, =24, 1-7
DN50mm 1-31
1-9
1-31 DN50mm
C, A,
40 ~60 0.96x103 ~1.44 x 10"
47 1.13x107°
45° 72 1.73x10°°
60° 65 1.56 x107°
\4 60 ~ 80 1.44x107° ~1.92x107°
7% 333 7.99 x 107
35% 154 3.70x107°
300 ~310 7.20x107° ~7.44 x10 7}
360 8.64 x107°
76 1.82x107°
123 2.95%x107°
131 3.14x107°
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A4 |
Ay
1-12
AZ 2
I e I 1-9
e=(1)
AZ 2
=(1-=2 1-10
c=(1-7)
g_
{'—
1-32 4
A,
— 10 9 8 7 6 5 4 3 2 —
A,
Iq 81 64 49 36 25 16 9 4 1 —
A
Afl 1 0.9 0.8 0.7 0.6 0.5 0.4 0.3 0.2 0.1
2
L 0 0.01 0.04 0.09 0.16 0.25 0. 36 0.49 0. 64 0. 81
2 1-13 0 <40°
9 =50° ~90° 15% ~20%
0 0=5°~6°30' g=7°~8° 0 =10°~12°
A : A A\
g:g(A—z—l) +76[(A—2) —1] 1-11
! Stan — 1
E—— 1-33
)\'”1_
A L A +A
m_2 1 2
)\1 )\2—




1-33 ¢
0/ ° 2.5 5 7.5 10 15 20
¢ 0.18 0.13 0.14 0.16 0.27 0.43
0/ ° 25 30 40 60 90 180
¢ 0. 62 0. 81 1.03 1.21 1.12 1
3 1-14 1-34
g
=0.5[1 4, 1-12
c=0s(1-7)
A A
1-14
4 1-15
2 A A,\?
et 1) ()]
& 8tani A,
2
1-13
— 1-35
€ 1-36
l 1-16
1-15
1-34 L
AZ
Af 1 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
1
L 0.50 0. 46 0.41 0. 36 0. 30 0.24 0.18 0.12 0. 06 0.02 0
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1-35 &
0/ ° 10 20 40 60 80 100 140
3 0. 40 0.25 0.20 0.20 0.30 0.40 0. 60
1-36 ¢
A')
A- 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
1
€ 0.661 | 0.612 | 0.616 | 0.622 | 0.633 | 0.644 | 0.662 | 0.687 | 0.722 | 0.781
0.45|Jo=180° (ZREULZH,_ 1400
0.40 Si e 20,
0.35 ST 100g¢:
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- ggg ;’:’,——::__-—- 16100500
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0.10 mT §=20°
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1-16 ¢
5 1-17 R, >10°
£ = Koo 1 -14
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1-17
1-37 K
0/ ° 20 30 40 50 60 70 80 90 100 | 120 | 140 | 160 | 180
K 0.40 | 0.55 [ 0.65 | 0.75(0.83 0.8 0.95| 1.0 | 1.05 | 1.13 | 1.20 | 1.27 | 1.33
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1-38 ¢
R
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gqo"
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l _39 g«Z‘JlJ“
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A
[ =2. 54an g(A—T) 1-16
A——
pp— D,
2.
1 —40
1 -40 ’
DN/mm 50 80 100 150 200 ~250 {300 ~400 |500 ~ 800
I'e 0.5 0.4 0.2 0.1 0.08 0.07 0.06
DN/mm 15 20 40 80 100 150 200
I4 10.8 8.0 4.9 4.0 4.1 4.4 4.7
DN/mm 25 32 50 65 80 100 150
e 2.8 3.0 3.3 3.7 3.9 3.8 3.7
DN/mm 25 40 50 65 80 100 150
I4 1.04 0.85 0.73 0.65 0. 60 0.50 0.42
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e 12 10 10 7 6 5.2 —
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1.
2 ¢
0.1
3 ¢ £~0.05 ~0.25 £~0.18 ~0.6
4. 0.6~0.9
D,/DN=0.6~0.8  =15°~40°
A
g:Ctang(A—T—l) 2 1-17
C—  C€=6-8

1 -41
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1-41 e
DT/DN
/mm in
1/8 1/4 3/8 1/2 3/4 1
15 1/2 374 53.6 18.26 7.74 2.204 0. 808
20 3/4 308 34.9 9.91 4.23 0.920 0.280
25 1 211 40.3 10. 15 3.54 0.882 0.233
50 2 146 22.5 7.15 3.22 0.739 0.175
100 4 67.2 13.0 4.62 1.93 0.412 0.164
150 6 87.3 17.1 6.12 2.64 0.522 0.145
200 8 66.0 13.5 4.92 2.19 0.464 0.103
250 10 96.2 17.4 5.61 2.29 0.414 0.047
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